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& M’Test One

Writing (30 minutes)

Directions: For this part, you are allowed 30 minutes to study the following cartoon
carefully and write an essay in which you should

1) describe the cartoon ,

2) interpret its meaning , and

3) point out its implications in our life.

You can cite examples to illustrate your point. You should write at least 150

words but no more than 200 words. Write your essay on Answer Sheet 1.

AEMABRRRR R

EE- Mo EEERF 1 LEE.

Listening Comprehension (30 minutes)

Section A

Directions: In this section, you will hear 8 short conversations and 2 long conver-
sations. At the end of each conversation, one or more questions will be asked about
what was said. Both the conversation and the questions will be spoken only once.
A fter each question there will be a pause. During the pause, you must read the four
choices marked A), B), C) and D), and decide which is the best answer. Then mark

the corresponding letter on Answer Sheet 1 with a single line through the centre.

ERE- Mo AEEEERF 1 LEE.
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1,000 dollars.

2,000 dollars.

Dec.13th, 1966.
Dec.30th, 1916.

In a hospital.

In a travel agency.

A surgical doctor.

A headmaster.

Having an interview.
Talking with his friend.
Buying some sugar.
Tasting something quiet.
She is going to Finland.
She has guests at her home.
He is confident.

He is bored.

B) 1,600 dollars.

D) 2,200 dollars.

B) Dec.30th, 1996.

D) Dec.30th, 1966.

B) In a library.

D) In a restaurant.

B) A university professor.

D) A psychological consultant.
B) Filling out a form.

D) Asking for information.

B) Trying a different coffee.
D) Buying some tea.

B) She has visitors next week.
D) She has just visited him this week.
B) He is worried.

D) He is angry.

Questions 9 to 11 are based on the conversation you have just heard.

9. A) They hired someone to stay in their home.
B) They left their pets with neighbors.

10.

11.

C) They rented their house to a student.

D) They asked their gardener to watch their home.
A) Walking the dog.
C) Watching the children.
A) They attend a house sitter’s party.

B) Cutting the grass.
D) Feeding the fish.

B) They check a house sitter’s references.

C) They interview a house sitter’s friends.

D) They look at a house sitter’s transcripts.

Questions 12 to 15 are based on the conversation you have just heard.

12.

13.

14.

A) To find out if the book she ordered is in.

B) To ask him to attend a Student Federation meeting.

C) To get his schedule of classes for next semester.

D) To see if he has time to welcome new students.

A) Many of them work full-time.

B) They usually arrive on the weekend.

C) They have volunteered for the orientation.

D) They will need new textbooks.

A) Take Ruth’s place as a tour guide.
B) Ask Ken if he will be at the orientation.
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C) Leave work early if he can.

D) Help out when he has time.

15. A) Orientation will have to start sooner.
B) The bookstore will place its orders earlier.
C) Ken will call Tim about the orientation.

D) The Student Federation will meet on Fridays.

Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage
you will hear some questions. Both the passage and the questions will be spoken only
once. After you hear a question, you must choose the best answer from the four
choices marked A), B), C) and D). Then mark the corresponding letter on Answer

Sheet 1 with a single line through the centre.

R EEEF 1| EE%.

Passage One

Questions 16 to 18 are based on the passage you have just heard.

16. A) Mexico. B) Spain.

C) India. D) Central and South America.
17. A) Toltec Indians. B) Women.

C) The king and noblemen. D) Montezuma.

18. A) Chocolate bars were given to soldiers to carry in their backpacks in the battle.
B) People had little to eat except chocolate bars.
C) Chocolate companies sold chocolate bars in candy stores during the war.

D) The queen of Spain loved chocolate bars and made it popular.

Passage Two

Questions 19 to 21 are based on the passage you have just heard.

19. A) Being arrested. B) In police custody.
C) Before a judge. D) In court.
20. A) Day in court. B) Search warrants.
C) Rights of citizens. D) Police and criminal.
21. A) Cruel deception. B) Legal document.
C) Personal appeal. D) A letter from the court.

Passage Three

Questions 22 to 25 are based on the passage you have just heard.

22. A) A housewife. B) A singer.
C) A teacher. D) A musician.
23. A) The violin was too expensive.

B) She was too young to play the violin.
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C) The violin was too big for her.

D) Her mother wanted her to play the piano.
24. A) To play the violin once again.

B) To go to the United States.

C) To accept a full scholarship.

D) To make a tape recording.
25. A) To live a more comfortable life.

B) To give performances.

C) To be a pupil of a famous violinist.

D) To enter a famous university.

Section C

Directions: In this section, you will hear a passage three times. When the passage is
read for the first time, you should listen carefully for its general idea. When the
passage is read for the second time, you are required to fill in the blanks with the
exact words you have just heard. Finally, when the passage is read for the third

time, you should check what you have written.

EE S AEEEEEF 1 LEE.

In a purely competitive market, the supplier of goods and services has no control
over the market price, because he produces too little to 26 market conditions. With
no difference between his products and the products of his competitors, he will sell
nothing if he charges above the market price and he will sell all if he charges at or below
the market price. However, in thinking over the price, he must take the cost of
production into 27  and no business person can 28  to lose money for a 29
period. He must be constantly aware of his costs in 30  to the market price if he is

to competes 31 and earn a profit. Many people have the 32  that as production

increases, costs per unit decrease. While mass production has made this true in certain

33 and at certain levels of production, both logic and practical experiences have

shown that costs per unit begin to rise beyond a certain level of production. Some
economists 34 this principle as the law of increasing costs. The reason costs rise as
production goes up is complex. However, it is easy to recognize that as production goes
up, the need for additional factors of production will also grow, 35  competitive
bidding in the marketplace for the factors of production. If a producer needs more
skilled labor to produce more, and none of this labor is unemployed, the producer will
have to get it from other sources. Therefore, offering higher, wages is the only way to

encourage all labor to bee equally productive.
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Reading Comprehension (40 minutes)

Section A

Directions: In this section, there is a passage with ten blanks. You are required to
select one word for each blank from a list of choices given in a word bank following
the passage. Read the passage through carefully before making your choices. Each
choice in the bank is identified by a letter. Please mark the corresponding letter for
each item on Answer Sheet 2 with a single line through the centre. You may not use

any of the words in the bank more than once.
Questions 36 to 45 are based on the following passage.

When a country is under-populated, newcomers are not competitors, but assistants. If
more come they may produce not only new quotas, buta 36 as well. In such a state
of things land is abundant and cheap. The possession of it confers no power or privilege.
No one will work for another for wages 37 he can take up new land and be his own
master. Hence it will pay no one to own more land than he can cultivate by his own
labor, or with such aid as his own family supplies. Hence, again, land bears little or no
rent; there will be no landlords living on rent and no laborers living on 38 , but only
a middle class of yeoman farmers (H # 4 ). All are 39 on an equality, and
democracy becomes the political form, because this is the only state of society in which
equality, on which democracy is 40 , is realized as a fact. The same effects are
powerfully reinforced by other facts. In a new and under-populated country the
industries which are most profitable are the extractive industries. The characteristic of
these, with the exception of some kinds of mining, is that they call 41 only a low
organization of labor and small amount of capital. Hence they allow the workman to
become 42 his own master, and they educate him to freedom, independence, and

self 43 . At the same time, the social groups being only 44 marked off from each

other, it is easy to reliance from one class of occupations, and consequently from one
social grade, to another. Finally, under the same circumstances, education, skill, and
superior training have but inferior value compared with what they have in densely
populated countries. The 45 lie in an under-populated country, with the coarse,
unskilled, manual occupations, and not with the highest developments of science,

literature, and art.

EE L ABEEEEF 2 LIEE.

A) wages D) extractive
B) based E) speedily
C) substantially F) advantages
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G) cultivate L) for

H) vaguely M) transfer
) bears N) confers

J) supplies 0O) surplus

K) when

Section B

Directions: In this section, you are going to read a passage with ten statements

attached to it. Each statement contains information given in one of the paragraphs.

Identify the paragraph from which the information is derived. You may choose a

paragraph more than once. Each paragraph is marked with a letter. Answer the

questions by marking the corresponding letter on Answer Sheet 2 .

A)

B)

(6]

D)

A Brief History of Clock
Clocks
At best, historians know that 5, 000 ~ 6, 000 years ago, great civilizations in the
Middle East and North Africa started to examine forms of clock-making instead of
working with only the monthly and annual calendar. Little is known on exactly how
these forms worked or indeed the actual deconstruction of the time, but it has been
suggested that the intention was to maximize time available to achieve more as the
size of the population grew. Perhaps such future periods of time were intended to
benefit the community by allotting specific lengths of time to tasks. Was this the
beginning of the working week?
Sun clocks (1)
With the disappearance of any ancient civilization, such as the Sumerian ([A#% A #))
culture,knowledge is also lost. Whilst ([f]if) we can only hypothesize ({#i%) on
the reasons of why the equivalent to the modern wristwatch was never completed,
we know that the ancient Egyptians were next to layout a system of dividing the day
into parts,similar to hours.
Sun clocks (2)
“Obelisks” (tall four-sided tapered monuments) were carefully constructed and even
purposefully geographically located around 3,500 BC. A shadow was east as the Sun
moved across the sky by the obelisk, which it appears was then marked out in
sections,allowing people to clearly see the two halves of the day. Some of the
sections have also been found to indicate the year’s longest and shortest days, which
it is thought were developments added later to allow identification of other important
time subdivisions.
Sun clocks (3)
Another ancient Egyptian “shadow clock” or “sundial” has been discovered to have

been in use around 1, 500 BC, which allowed the measuring of the passage of
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“hours”. The sections were divided into ten parts, with two “twilight hours”
indicated ,occurring in the morning and the evening. For it to work successfully then
at midday or noon,the device had to he turned 180 degrees to measure the afternoon
hours.

Water clocks

“Water clocks” were among the earliest time keeping devices that didn’t use the
observation of the celestial (X %5 #)) bodies to calculate the passage of time. The
ancient Greeks, it is believed, began using water clocks around 325 BC. Most of
these clocks were used to determine the hours of the night,but may have also been
used during daylight. An inherent problem with the water clocks was that they were
not totally accurate,as the system of measurement was based on the flow of water
either into,or out of,a container which had markers around the sides. Another very
similar form was that of a bowl that sank during a period as it was filled of water
from a regulated flow. It is known that water clocks were common across the Middle
East. and that these were still being used in North Africa during the early part of the
twentieth century.

Mechanical clocks (1)

In 1656, “Christian Huygens” (Dutch scientist) , made the first “Pendulum (%)
clock”, with a mechanism using a “natural” period of oscillation (#& ). “Galileo
Galilei” is credited, in most historical books, for inventing the pendulum as early as
1582, but his design was not built before his death.

Mechanical clocks (2)

Huygens’ clock,when built,had an error of “less than only one minute a day”. This
was a massive leap in the development of maintaining accuracy, as this had
previously never been achieved. Later refinements to the pendulum clock reduced
this margin of error to “less than 10 seconds a day”. The mechanical clock continued
to develop until they achieved an accuracy of “a hundredth-of-a-second a day”, when
the pendulum clock became the accepted standard in most astronomical
observatories.

Quartz clocks (1)

The running of a “Quartz clock” is based on the piezoelectric property of the quartz
crystal. When an electric field is applied to a quartz crystal, it actually changes the
shape of the crystal itself. If you then squeeze it or bend it, an electric field is
generated. When placed in an appropriate electronic circuit, this inter action
between the mechanical stress and the electrical field causes the crystal to vibrate,
generating a constant electric signal which can then be used for example on an
electronic clock display. The first wrist-watches that appeared in mass production
used “LED”, “Light Emitting Diode” displays. By the 1970’s these were to be
replaced by a “LCD”, “Liquid Crystal Display”.
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ID Quartz clocks(2)

J

~

Quartz clocks continue to dominate the market because of the accuracy and reliability
of the performance, also being inexpensive to produce on mass scale. The time
keeping performance of the quartz clock has now been surpassed by the *“Atomic
clock”.

Atomic clocks (1)

Scientists discovered some time ago that atoms and molecules have “resonances” and
that each chemical element and compound absorbs and emits “electromagnetic
radiation” within its own characteristic “frequencies”. This we are told is highly
accurate even over “Time and Space”. The development of radar and the subsequent
experimentation with high frequency radio communications during the 1930s and
1940s created a vast amount of knowledge regarding “electromagnetic waves”, also

known as “microwaves”, which interact with the atoms.

K) Atomic clocks (2)

The development of atomic clocks focused firstly on microwave resonances in the
chemical Ammonia and its molecules. In 1957, “NIST”, the “National Institute of
Standards and Technology”, completed a series of tests using a “Cesium Atomic
Beam” device, followed by a second program of experiments by NIST in order to
have something for comparison when working at the atomic level. By 1960, as the
outcome of the programs, “Cesium Time Standards” were incorporated as the official

time keeping system at NIST.

L) Atomic clocks (3)

The “Natural frequency” recognized currently is the measurement of time,used by
all scientists, and defines the period of “one second” as exactly“9, 192, 631, 770
Oscillations” or “9,192,631,770 Cycles of the Cesium Atom’s Resonant Frequency”.
From the “Macrocosm”. Or “Planetary Alignment”,to the “Microcosm”,or “Atomic
Frequency”,the cesium now maintains accuracy with a degree of error to about “one-

millionth of a second per year”.

M) Atomic clocks (4)

Much of modern life has come to depend on such precise measurements of time. The
day is long past when we could get by with a timepiece (#f) accurate to the nearest
quarter hour. Transportation, financial markets, communication, manufacturing,
electric power and many other technologies have become dependent on super-
accurate clocks. Scientific research and the demands of modem technology continue
to drive our search for ever more accuracy. The next generation of Cesium Time
Standards is presently under development at NIST’s “Boulder Laboratory” and other

laboratories around the world.

N) Something to remember (1)

The only thing that should be remembered during all this technological development

is that we should never lose the ability to tell the time approximately by natural



rexaf@uanaxs 25 ( odel Test One

means and the powers of deduction without requiring crutches (# %) to lean on.

O) Something to remember (2)
Our concept of TIME and using it together with TECHNOLOGY still has room for
radical reassessment in terms of man’s evolutionary thinking regarding our view of
the past, our onward journey into the future and our concept of time in relationship to

universe.

TR EEEEEF 2 BEE,
46. It is suggested that 5,000~6,000 years ago people in the Middle East and North

Africa started to allot specific lengths of time to tasks.

47. “Shadow clock”or “sundial” has been used by ancient Egyptians around 1,500 BC to
measure passage of “hours”.

48. “Water clocks” didn’t work by observing the celestial bodies to calculate the passage
of time.

49. Christian Huygens built the first “pendulum clock” as early as 1656.

50. Water clocks mostly used to determine the hours of the night.

51. Error in Huygens’ mechanical clock, “less than only one minute a day” which was a
massive leap in the development of maintaining accuracy.

52. Three characteristic of low price, accuracy and reliability in performance Quartz
clocks continue to dominate the market.

53. Scientific research and the demands of modern technology continue to drive our
search for examining time ever more accurately.

54. Of all the clocks introduced in the passage, the one with the most accuracy is the
atomic clock.

55. No matter how advanced the technology of measuring time will be we should nearer

lose the ability to tell the time approximately by nature.

Section C

Directions: There are 2 passages in this section. Each passage is followed by some
questions or unfinished statements. For each of them there are four choices marked
A), B), C) and D). You should decide on the best choice and mark the corresponding

letter on Answer Sheet 2 with a single line through the centre.

Passage One

Questions 56 to 60 are based on the following passage.

Woodrow Wilson was referring to the liberal idea of the economic market when he
said that the free enterprise system was the most efficient economic system. Maximum
freedom means maximum productiveness, our “openness” is to be the measure of our
stability. Fascination with this ideal has made Americans defy the “Old World”
categories of settled possessiveness versus unsettling deprivation, the cupidity of
retention versus the cupidity of seizure, a “status quo” defended or attacked. The

9
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United States, it was believed, had no status quo ante. Our only “station” was the

turning of a stationary wheel, spinning faster and faster. We did not base our system on
property but opportunity—which meant we based it not on stability but on mobility.
The more things changed, that is, the more rapidly the wheel turned, the steadier we
would be. The conventional picture of class politics is composed of the Haves, who want
a stability to keep what they have, and the Have-Nots, who want a touch of instability
and change in which to scramble for the things they have not. But Americans imagined a
condition in which speculators, self-makers. runners were always using the new
opportunities given by our land. These economic leaders (front-runners) would thus be
mainly agents of change. The nonstarters were considered the ones who wanted
stability, a strong referee to give them some position in the race, a regulative hand to
calm manic speculation, an authority that can call things to a halt, begin things again
from compensatorily staggered “starting lines”.

“Reform” in America has been sterile because it can imagine no change except
through the extension of this metaphor of a race, wider inclusion of competitors, “a
piece of the action,” as it were, for the disenfranchised. There is no attempt to call off
the race. Since our only stability is change, America seems not to honor the quiet work
that achieves social interdependence and stability. There is, in our legends, no heroism
of the office clerk, no stable industrial work force of the people who actually make the
system work. There is no pride in being an employee (Wilson asked for a return to the
time when everyone was an employer). There has been no boasting about our social
workers—they are merely signs of the system’s failure. of opportunity denied or not
taken, of things to be eliminated. We have no pride in our growing interdependence, in
the fact that our system can serve others, that we are able to help those in need, empty
boasts from the past make us ashamed of our present achievements, make us try to
forget or deny them, move away from them. There is no honor but in the Wonder-
landrace we must all run, all trying to win, none winning in the end (for there is no
end) .

ERE A EERF 2 L%,

56. The primary purpose of the passage is to
A) criticize the inflexibility of American economic mythology
B) contrast “Old World” and “New World” economic ideologies
C) challenge the integrity of traditional political leaders
D) champion those Americans whom the author deems to be neglected
57. In the context of the author’s discussion of regulating change, which of the follow-

ing could be most probably regarded as a “strong referee” (line 16) in the United

States?
A) A school principal. B) A political theorist.
C) A federal court judge. D) A social worker.

10
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58. It can be inferred from the passage that the author most probably thinks that giving

the disenfranchised “a piece of the action” (line 21) is
A) a compassionate, if misdirected, legislative measure
B) an example of Americans’ resistance to profound social change
C) an innovative program for genuine social reform
D) a monument to the efforts of industrial reformers
59. It can be inferred from the passage that Woodrow Wilson’s ideas about the economic
market
A) encouraged those who “make the system work” (lines 25)
B) perpetuated traditional legends about America
C) revealed the prejudices of a man born wealthy
D) foreshadowed the stock market crash of 1929
60. Which of the following best expresses the author’s main point?
A) Americans’ pride in their jobs continues to give them stamina today.
B) The free enterprise system has been only a useless concept in the United States.
C) The myth of the American free enterprise system is seriously flawed.
D) Fascination with the ideal of “openness” has made Americans a progressive

people.

Passage Two

Questions 61 to 65 are based on the following passage.

Since the early 1970’s, historians have begun to devote serious attention to the
working class in the United States. Yet while we now have studies of working class
communities and culture, we know remarkably little of worklessness. When historians
have paid any attention at all to unemployment, they have focused on the Great
Depression of the 1930’s. The narrowness of this perspective ignores the pervasive
recessions and joblessness of the previous decades, as Alexander Keyssar shows in his
recent book. Examining the period 1870~1920, Keyssar concentrates on Massachusetts,
where the historical materials are particularly rich, and the findings applicable to other
industrial areas.

The unemployment rates that Keyssar calculates appear to be relatively modest, at
least by Great Depression standards: during the worst years, in the 1870s and 1890s,
unemployment was around 15 percent. Yet Keyssar rightly understands that a better
way to measure the impact of unemployment is to calculate unemployment frequencies,
measuring the percentage of workers who experience any unemployment in the course
of a year. Given this perspective, joblessness looms much larger.

Keyssar also scrutinizes unemployment patterns according to skill level, ethnicity,
race, age, class, and gender. He finds that rates of joblessness differed primarily
according to class: those in middle-class and white-collar occupations were far less likely
to be unemployed. Yet the impact of unemployment on a specific class was not always
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